’ ) yys.

&

, rf /Jf}’f‘," :
x> 1( Td}«" ?‘»‘ﬂ-““ﬁ.ﬂf J ’( 1{\ \ '1:.-‘;’-‘7-’:;
~ hoy \Ja,l,;cl/w Undn Cfufd,.fi P

CSL201 Data Structures Minor 1 30" Aug, 2013

05

Your Lab day__Youday Your TA D; v %cwul’\«llk
I

Answer all the questions in the space provided for each question. You may use the
answer script for rough work.

1 [2] Write the preorder traversal of the following tree:

()

gUu1925136

2. [9] Complete the following function which accepts a sorted linked list in ascending order,
with each node containing an integer, and returns the list after removing all nodes which appear

more than once. Thus given the input

34- 40~ 55-55-62—-78,itshould return 34-40-62-78 ‘. \

node * duplicate( node *A) { v d/;'?( ,]

node * cuw; E nob
= e o’

by o iwh,\ MK‘[ L Y\ULL)
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3.[10] Given g tre

€ and an integer, wri
rootdown 1o

a leaf, such {hgt

product
equals the given integer, otherwise

of all

5
/ \
4 8
/ /7 \
11 13 4
/ A\ \
7 2 1

Root-to-leaf paths for the above tree -
path 1: 5 4 11 7

path 2: 5 4 17 5
path 3: 5 g 13
path 4: 5 g 4 1

For this problem, we will be

concerned with the
example, the product of the

values on the 5-4-

vt p> IP &m
- 9~ d - &
if CPF%J{‘*) i .
elag

ﬁ
/y

)
§ Cp- e mzN)
ﬁ_ Cq,/? %am

Aakuom That
e

te a function which returns true if there is a path from the
the values
return false. For example given the tree

product of the values of such a path -- for
11-7 pathis 5 * 4 * 11 * 7= 1540.

along the path

Pt
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:‘ii [6|t Clqnvm't the following expression o posthix notation using a stack, Shavr the entries in
\e stack every time a character is read fioin e expression,

5*4/(8"“2/(3*2))‘)*3
5 4 4 ¢ 1. % ?_,-#/m-yl‘*%m y/

‘::’!t

_H'C/ :_: e

J ,:,%L . p.w{i']

e O o e B
4 u;d '

4

\ 5. [5] What will be the output of the following Ttnction if it takes the given tree as input ?

void wonder ( node *p) {
wonder ( p = > left);
if (p=>right I=NULL || p=> left|= NULL){
cout << p—> data<<* %)
wonder (p = > right);}

Xq’ / \
| / \ |
D | 5 12

/ \ /- \
;:L’ ' 4 B 5 \
/ ! / / \ / 6
& 11 13 4 2 \
3
\/3‘-’"‘"—‘1‘““*‘% ~
0 //' B 814 15 >
g w\} i
| 2
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?
0. 131 What is the maximum number of nodes in a binary tree if it contains 120 leaf nodes?
Justily your answer,

do vttt
ﬁ“% Jn“do - Je—ﬂh o velugty  dhmol—wodo

(‘>< = 28 LLM% : “(\_”D
\IK [ T AsSuming omblede binay, ¢ 7, 255 hax
224 (h W) | bt 4100 ¢ o amserer shousd ha been

Covveed Qrsveyd e (uciplTe .
7. 15| Indicate how the list below will change when we call the followmg routme
SIrst=> 57— 55 - 92 — 40 - 62 — 84 — 78

void magic(node *first)

struct node *p = first,
*q=NULL,

while (p 1= NULL)
{

r=q,
q=p

P = p->ncxt;
/ q->next=r;
& }
q = first;

}

N TN w{}@ @&«JL
: 4,

o g feabien [
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